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ƒtot = 0.1 m/s

‡ w m3/h lub l/s:
L w m:
∆tZ w K:
Atot w m2:
ƒtot w m/s:  Atot

LƒLmax w m: ƒLmax

ƒLmax w m/s:
∆tLmax w K:

 LƒL max

ƒ L w m/s:  LƒL max

∆tL w K:  LƒL max

∆pt w Pa:
LWA w dB(A):

‡
∆tZ

Atot

10
0 

m
m

* *

ƒLmax
∆tLmax

ƒLmax
∆tLmax

LƒLmax

2 x LƒLmax

L

ƒL
∆tL

ƒL
∆tL

45°
∆pt x 1.9 x 3.4
LWA + 8 + 17

 v–tot = 0.1 m/s

∆tZ = -2 K ∆tZ = -6 K

NW H Atot V
.

∆pt LWA Lv–Lmax v–Lmax ∆tLmax 2xLv–Lmax v–L ∆tL Lv–Lmax v–Lmax ∆tLmax 2xLv–Lmax v–L ∆tL

(mm) (mm) m2 in m3/h in l/s Pa dB(A) w m w m/s w K w m (m/s) (K) w m w m/s w K w m (m/s) w K

500 0.17 62 17 2 <15 0.5 0.12 -1.4 1.0 0.07 -1.2 0.4 0.22 -4.8 0.7 0.14 -4.0

160
600 0.21 74 21 2 <15 0.6 0.13 -1.4 1.2 0.08 -1.2 0.4 0.24 -4.9 0.8 0.15 -4.0

800 0.28 99 28 4 <15 0.7 0.15 -1.5 1.4 0.09 -1.2 0.5 0.29 -5.0 1.0 0.18 -4.2

1000 0.34 124 34 5 <15 0.8 0.17 -1.5 1.6 0.11 -1.3 0.6 0.32 -5.1 1.2 0.20 -4.3

500 0.21 75 21 1 <15 0.5 0.12 -1.4 1.0 0.07 -1.2 0.4 0.22 -4.8 0.8 0.14 -4.0

200
600 0.25 91 25 1 <15 0.6 0.13 -1.4 1.2 0.08 -1.2 0.4 0.24 -4.9 0.8 0.15 -4.0

800 0.34 121 34 2 <15 0.7 0.15 -1.5 1.4 0.09 -1.2 0.5 0.29 -5.0 1.0 0.18 -4.2

1000 0.42 151 42 3 <15 0.8 0.17 -1.5 1.6 0.11 -1.3 0.6 0.32 -5.1 1.2 0.20 -4.3

500 0.26 92 26 1 <15 0.5 0.12 -1.4 1.0 0.07 -1.2 0.4 0.22 -4.8 0.8 0.14 -4.0

250
600 0.31 111 31 1 <15 0.6 0.13 -1.4 1.2 0.08 -1.2 0.4 0.24 -4.9 0.8 0.15 -4.0

800 0.41 148 41 1 <15 0.7 0.15 -1.5 1.4 0.09 -1.2 0.5 0.29 -5.0 1.0 0.18 -4.2

1000 0.52 186 52 2 <15 0.8 0.17 -1.5 1.6 0.11 -1.3 0.6 0.32 -5.1 1.2 0.20 -4.3

600 0.38 138 38 1 <15 0.6 0.13 -1.4 1.2 0.08 -1.2 0.4 0.24 -4.9 0.8 0.15 -4.0

315
800 0.51 184 51 1 <15 0.7 0.15 -1.5 1.4 0.09 -1.2 0.5 0.29 -5.0 1.0 0.18 -4.2

1000 0.64 230 64 1 <15 0.8 0.17 -1.5 1.7 0.11 -1.3 0.6 0.32 -5.1 1.2 0.20 -4.3

1250 0.80 288 80 2 <15 1.0 0.20 -1.6 2.0 0.12 -1.3 0.6 0.37 -5.2 1.2 0.23 -4.4

800 0.64 230 64 1 <15 0.7 0.15 -1.5 1.4 0.09 -1.2 0.5 0.29 -5.0 1.0 0.18 -4.2

400
1000 0.80 287 80 1 <15 0.8 0.17 -1.5 1.6 0.11 -1.3 0.6 0.32 -5.1 1.2 0.20 -4.3

1250 1.00 359 100 1 <15 1.0 0.20 -1.6 2.0 0.12 -1.3 0.6 0.37 -5.2 1.2 0.23 -4.4

1500 1.20 432 120 2 <15 1.1 0.22 -1.6 2.2 0.14 -1.3 0.7 0.41 -5.3 1.4 0.25 -4.4

1000 0.98 354 98 1 <15 0.8 0.17 -1.5 1.6 0.11 -1.3 0.6 0.32 -5.1 1.2 0.20 -4.3

500 1250 1.23 443 123 1 <15 1.0 0.20 -1.6 2.0 0.12 -1.3 0.6 0.37 -5.2 1.2 0.23 -4.4

1500 1.48 532 148 1 <15 1.1 0.22 -1.6 2.2 0.14 -1.3 0.7 0.41 -5.3 1.4 0.25 -4.4

1250 1.53 551 153 1 <15 1.0 0.20 -1.6 2.0 0.12 -1.3 0.6 0.37 -5.2 1.2 0.23 -4.4

630 1500 1.84 662 184 1 <15 1.1 0.22 -1.6 2.2 0.14 -1.3 0.7 0.41 -5.3 1.4 0.25 -4.4

1750 2.15 773 215 1 <15 1.2 0.24 -1.6 2.4 0.15 -1.3 0.8 0.44 -5.4 1.6 0.28 -4.5
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ƒtot = 0.3 m/s

∆pt x 1.9 x 3.4
LWA + 8 + 17

(

∆tZ = -4K 

ƒ tot max = 0.3 m/s 

LWA (tabela) < 15 dB(A)

LWA < 23 dB(A)
∆pt (tabela) = 7 Pa

∆pt = 13 Pa

∆t Z = -4 K, 

-2 K a -6 K

LƒLmax = 1 m
ƒLmax = 0.15 m/s
∆tLmax = -2.5 K

2 x LƒLmax = 2 m
ƒL = 0.09 m/s
∆tL = -2 K

v–tot = 0.3 m/s

∆tZ = -2 K ∆tZ = -6 K

NW H Atot V
.

∆pt LWA Lv–Lmax v–Lmax ∆tLmax 2xLv–Lmax v–L ∆tL Lv–Lmax v–Lmax ∆tLmax 2xLv–Lmax v–L ∆tL

(mm) (mm) m2 w m3/h w l/s Pa dB(A) w m w m/s w K w m (m/s) (K) w m  w m/s w K w m (m/s) w K

500 0.17 185 51 16 <15 1.2 0.10 -1.1 2.4 0.06 -0.9 0.8 0.19 -3.8 1.6 0.12 -3.2

160
600 0.21 223 62 20 19 1.3 0.11 -1.2 2.6 0.07 -1.0 0.9 0.21 -3.9 1.8 0.13 -3.2

800 0.28 298 83 32 26 1.6 0.13 -1.2 3.2 0.08 -1.0 1.1 0.25 -4.0 2.2 0.15 -3.3

1000 0.34 373 104 46 32 1.9 0.15 -1.2 3.8 0.09 -1.0 1.3 0.28 -4.1 2.5 0.17 -3.4

500 0.21 226 63 10 <15 1.2 0.10 -1.1 2.4 0.06 -0.9 0.8 0.19 -3.8 1.6 0.12 -3.2

200
600 0.25 272 76 13 <15 1.3 0.11 -1.2 2.6 0.07 -1.0 0.9 0.21 -3.9 1.8 0.13 -3.2

800 0.34 363 101 20 21 1.6 0.13 -1.2 3.2 0.08 -1.0 1.1 0.25 -4.0 2.2 0.15 -3.3

1000 0.42 454 126 29 27 1.9 0.15 -1.2 3.8 0.09 -1.0 1.3 0.28 -4.1 2.5 0.17 -3.4

500 0.26 277 77 7 <15 1.2 0.10 -1.1 2.4 0.06 -0.9 0.8 0.19 -3.8 1.6 0.12 -3.2

250
600 0.31 333 93 9 <15 1.3 0.11 -1.2 2.6 0.07 -1.0 0.9 0.21 -3.9 1.8 0.13 -3.2

800 0.41 445 124 13 16 1.6 0.13 -1.2 3.2 0.08 -1.0 1.1 0.25 -4.0 2.2 0.15 -3.3

1000 0.52 557 155 18 21 1.9 0.15 -1.2 3.8 0.09 -1.0 1.3 0.28 -4.1 2.5 0.17 -3.4

600 0.38 413 115 6 <15 1.3 0.11 -1.2 2.6 0.07 -1.0 0.9 0.21 -3.9 1.8 0.13 -3.2

315
800 0.51 551 153 9 <15 1.6 0.13 -1.2 3.2 0.08 -1.0 1.1 0.25 -4.0 2.2 0.15 -3.3

1000 0.64 690 192 12 16 1.9 0.15 -1.2 3.8 0.09 -1.0 1.3 0.28 -4.1 2.5 0.17 -3.4

1250 0.80 863 240 16 22 2.1 0.17 -1.2 4.2 0.10 -1.0 1.4 0.32 -4.2 2.9 0.20 -3.5

800 0.64 689 191 6 <15 1.6 0.13 -1.2 3.2 0.08 -1.0 1.1 0.25 -4.0 2.2 0.15 -3.3

400
1000 0.80 862 239 8 <15 1.9 0.15 -1.2 3.8 0.09 -1.0 1.3 0.28 -4.1 2.5 0.17 -3.4

1250 1.00 1078 299 10 16 2.1 0.17 -1.2 4.2 0.10 -1.0 1.4 0.32 -4.2 2.9 0.20 -3.5

1500 1.20 1295 360 14 21 2.4 0.19 -1.3 4.8 0.12 -1.1 1.6 0.35 -4.3 3.2 0.22 -3.5

1000 0.98 1062 295 5 <15 1.9 0.15 -1.2 3.8 0.09 -1.0 1.3 0.28 -4.1 2.5 0.17 -3.4

500 1250 1.23 1328 369 7 <15 2.1 0.17 -1.2 4.2 0.10 -1.0 1.4 0.32 -4.2 2.9 0.20 -3.5

1500 1.48 1595 443 9 15 2.4 0.19 -1.3 4.8 0.12 -1.0 1.6 0.35 -4.3 3.2 0.22 -3.5

1250 1.53 1654 459 5 <15 2.1 0.17 -1.2 4.2 0.10 -1.0 1.4 0.32 -4.2 2.9 0.20 -3.5

630 1500 1.84 1986 552 6 <15 2.4 0.19 -1.3 4.8 0.12 -1.1 1.6 0.35 -4.3 3.2 0.22 -3.5

1750 2.15 2318 644 7 <15 2.7 0.21 -1.3 5.4 0.13 -1.1 1.8 0.38 -4.3 3.6 0.24 -3.6
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ƒtot = 0.1 m/s

∆pt x 1.9 x 3.4
LWA + 8 + 17

 v– tot = 0.1 m/s

∆tZ = -2 K ∆tZ = -6 K

NW H Atot V
.

∆pt LWA Lv–Lmax v–Lmax ∆tLmax 2xLv–Lmax v–L ∆tL Lv–Lmax v–Lmax ∆tLmax 2xLv–Lmax v–L ∆tL

(mm) (mm) m2 w m3/h w l/s Pa dB(A) w m w m/s w K w m (m/s) (K) w m  w m/s w K w m (m/s) w K

500 0.25 88 24 3 <15 0.5 0.12 -1.4 1.0 0.07 -1.2 0.4 0.22 -4.8 0.8 0.14 -4.0

160
600 0.29 106 29 4 <15 0.6 0.13 -1.4 1.2 0.08 -1.2 0.4 0.24 -4.9 0.8 0.15 -4.0

800 0.39 142 39 7 <15 0.7 0.15 -1.5 1.4 0.09 -1.2 0.5 0.29 -5.0 1.0 0.18 -4.2

1000 0.49 177 49 10 <15 0.8 0.17 -1.5 1.6 0.11 -1.3 0.6 0.32 -5.1 1.2 0.20 -4.3

500 0.30 107 30 2 <15 0.5 0.12 -1.4 1.0 0.07 -1.2 0.4 0.22 -4.8 0.8 0.14 -4.0

200
600 0.36 129 36 3 <15 0.6 0.13 -1.4 1.2 0.08 -1.2 0.4 0.24 -4.9 0.8 0.15 -4.0

800 0.48 172 48 4 <15 0.7 0.15 -1.5 1.4 0.09 -1.2 0.5 0.29 -5.0 1.0 0.18 -4.2

1000 0.60 216 60 6 <15 0.8 0.17 -1.5 1.6 0.11 -1.3 0.6 0.32 -5.1 1.2 0.20 -4.3

500 0.36 130 36 1 <15 0.5 0.12 -1.4 1.0 0.07 -1.2 0.4 0.22 -4.8 0.8 0.14 -4.0

250
600 0.44 157 44 2 <15 0.6 0.13 -1.4 1.2 0.08 -1.2 0.4 0.24 -4.9 0.8 0.15 -4.0

800 0.58 209 58 3 <15 0.7 0.15 -1.5 1.4 0.09 -1.2 0.5 0.29 -5.0 1.0 0.18 -4.2

1000 0.73 262 73 4 <15 0.8 0.17 -1.5 1.6 0.11 -1.3 0.6 0.32 -5.1 1.2 0.20 -4.3

600 0.54 194 54 1 <15 0.6 0.13 -1.4 1.2 0.08 -1.2 0.4 0.24 -4.9 0.8 0.15 -4.0

315
800 0.72 259 72 2 <15 0.7 0.15 -1.5 1.4 0.09 -1.2 0.5 0.29 -5.0 1.0 0.18 -4.2

1000 0.90 325 90 2 <15 0.8 0.17 -1.5 1.6 0.11 -1.3 0.6 0.32 -5.1 1.2 0.20 -4.3

1250 1.13 406 113 3 <15 1.0 0.20 -1.6 2.0 0.12 -1.3 0.6 0.37 -5.2 1.2 0.23 -4.4

800 0.90 324 90 1 <15 0.7 0.15 -1.5 1.4 0.09 -1.2 0.5 0.29 -5.0 1.0 0.18 -4.2

400
1000 1.13 406 113 2 <15 0.8 0.17 -1.5 1.6 0.11 -1.3 0.6 0.32 -5.1 1.2 0.20 -4.3

1250 1.41 508 141 2 <15 1.0 0.20 -1.6 2.0 0.12 -1.3 0.6 0.37 -5.2 1.2 0.23 -4.4

1500 1.69 609 169 3 <15 1.1 0.22 -1.6 2.2 0.14 -1.3 0.7 0.41 -5.3 1.4 0.25 -4.4

1000 1.39 501 139 1 <15 0.8 0.17 -1.5 1.6 0.11 -1.3 0.6 0.32 -5.1 1.2 0.20 -4.3

500 1250 1.74 627 174 1 <15 1.0 0.20 -1.6 2.0 0.12 -1.3 0.6 0.37 -5.2 1.2 0.23 -4.4

1500 2.09 752 209 2 <15 1.1 0.22 -1.6 2.2 0.14 -1.3 0.7 0.41 -5.3 1.4 0.25 -4.4

1250 2.17 782 217 1 <15 1.0 0.20 -1.6 2.0 0.12 -1.3 0.6 0.37 -5.2 1.2 0.23 -4.4

630 1500 2.61 939 261 1 <15 1.1 0.22 -1.6 2.2 0.14 -1.3 0.7 0.41 -5.3 1.4 0.25 -4.4

1750 3.04 1096 304 2 <15 1.2 0.24 -1.6 2.4 0.15 -1.3 0.8 0.44 -5.4 1.6 0.28 -4.5
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ƒtot = 0.3 m/s

∆pt x 1.9 x 3.4
LWA + 8 + 17

 v– tot = 0.3 m/s

∆tZ = -2 K ∆tZ = -6 K

NW H Atot V
.

∆pt LWA Lv–Lmax v–Lmax ∆tLmax 2xLv–Lmax v–L ∆tL Lv–Lmax v–Lmax ∆tLmax 2xLv–Lmax v–L ∆tL

(mm) (mm) m2 w m3/h iw l/s Pa dB(A) w m w m/s w K w m (m/s) (K) w m w m/s  w K w m (m/s) w K

500 0.25 265 74 30 24 1.2 0.10 -1.1 2.4 0.06 -0.9 0.8 0.19 -3.8 1.6 0.12 -3.2

160
600 0.29 318 88 39 29 1.3 0.11 -1.2 2.6 0.07 -1.0 0.9 0.21 -3.9 1.8 0.13 -3.2

800 0.39 425 118 62 37 1.6 0.13 -1.2 3.2 0.08 -1.0 1.1 0.25 -4.0 2.2 0.15 -3.3

1000 0.49 532 148 89 42 1.9 0.15 -1.2 3.8 0.09 -1.0 1.3 0.28 -4.1 2.5 0.17 -3.4

500 0.30 322 89 19 19 1.2 0.10 -1.1 2.4 0.06 -0.9 0.8 0.19 -3.8 1.6 0.12 -3.2

200
600 0.36 387 108 25 23 1.3 0.11 -1.2 2.6 0.07 -1.0 0.9 0.21 -3.9 1.8 0.13 -3.2

800 0.48 517 144 39 31 1.6 0.13 -1.2 3.2 0.08 -1.0 1.1 0.25 -4.0 2.2 0.15 -3.3

1000 0.60 647 180 55 37 1.9 0.15 -1.2 3.8 0.09 -1.0 1.3 0.28 -4.1 2.5 0.17 -3.4

500 0.36 391 109 12 <15 1.2 0.10 -1.1 2.4 0.06 -0.9 0.8 0.19 -3.8 1.6 0.12 -3.2

250
600 0.44 470 131 16 18 1.3 0.11 -1.2 2.6 0.07 -1.0 0.9 0.21 -3.9 1.8 0.13 -3.2

800 0.58 628 174 25 25 1.6 0.13 -1.2 3.2 0.08 -1.0 1.1 0.25 -4.0 2.2 0.15 -3.3

1000 0.73 786 218 35 31 1.9 0.15 -1.2 3.8 0.09 -1.0 1.3 0.28 -4.1 2.5 0.17 -3.4

600 0.54 583 162 10 <15 1.3 0.11 -1.2 2.6 0.07 -1.0 0.9 0.21 -3.9 1.8 0.13 -3.2

315
800 0.72 778 216 16 20 1.6 0.13 -1.2 3.2 0.08 -1.0 1.1 0.25 -4.0 2.2 0.15 -3.3

1000 0.90 974 271 22 26 1.9 0.15 -1.2 3.8 0.09 -1.0 1.3 0.28 -4.1 2.5 0.17 -3.4

1250 1.13 1219 339 31 31 2.1 0.17 -1.2 4.2 0.10 -1.0 1.4 0.32 -4.2 2.9 0.20 -3.5

800 0.90 973 270 10 <15 1.6 0.13 -1.2 3.2 0.08 -1.0 1.1 0.25 -4.0 2.2 0.15 -3.3

400
1000 1.13 1217 338 14 20 1.9 0.15 -1.2 3.8 0.09 -1.0 1.3 0.28 -4.1 2.5 0.17 -3.4

1250 1.41 1523 423 20 26 2.1 0.17 -1.2 4.2 0.10 -1.0 1.4 0.32 -4.2 2.9 0.20 -3.5

1500 1.69 1828 508 26 31 2.4 0.19 -1.3 4.8 0.12 -1.1 1.6 0.35 -4.3 3.2 0.22 -3.5

1000 1.39 1503 418 9 15 1.9 0.15 -1.2 3.8 0.09 -1.0 1.3 0.28 -4.1 2.5 0.17 -3.4

500 1250 1.74 1880 522 13 21 2.1 0.17 -1.2 4.2 0.10 -1.0 1.4 0.32 -4.2 2.9 0.20 -3.5

1500 2.09 2257 627 17 25 2.4 0.19 -1.3 4.8 0.12 -1.1 1.6 0.35 -4.3 3.2 0.22 -3.5

1250 2.17 2345 651 9 15 2.1 0.17 -1.2 4.2 0.10 -1.0 1.4 0.32 -4.2 2.9 0.20 -3.5

630 1500 2.61 2816 782 11 20 2.4 0.19 -1.3 4.8 0.12 -1.1 1.6 0.35 -4.3 3.2 0.22 -3.5

1750 3.04 3287 913 14 24 2.7 0.21 -1.3 5.4 0.13 -1.1 1.8 0.38 -4.3 3.6 0.24 -3.6
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ƒtot = 0.1 m/s

∆pt x 1.9 x 3.4
LWA + 8 + 17

v–tot = 0.1 m/s

∆tZ = -2 K ∆tZ = -6 K

NW H Atot V
.

∆pt LWA Lv–Lmax v–Lmax ∆tLmax 2xLv–Lmax v–L ∆tL Lv–Lmax v–Lmax ∆tLmax 2xLv–Lmax v–L ∆tL

(mm) (mm) m2 w m3/h w l/s Pa dB(A) w m w m/s w K w m (m/s) (K) w m  w m/s w K w m (m/s) w K

500 0.32 115 32 5 <15 0.5 0.12 -1.4 1.0 0.07 -1.2 0.4 0.22 -4.8 0.8 0.14 -4.0

160
600 0.38 138 38 7 <15 0.6 0.13 -1.4 1.2 0.08 -1.2 0.4 0.24 -4.9 0.8 0.15 -4.0

800 0.51 184 51 11 <15 0.7 0.15 -1.5 1.4 0.09 -1.2 0.5 0.29 -5.0 1.0 0.18 -4.2

1000 0.64 231 64 16 <15 0.8 0.17 -1.5 1.6 0.11 -1.3 0.6 0.32 -5.1 1.2 0.20 -4.3

500 0.39 139 39 3 <15 0.5 0.12 -1.4 1.0 0.07 -1.2 0.4 0.22 -4.8 0.8 0.14 -4.0

200
600 0.46 167 46 4 <15 0.6 0.13 -1.4 1.2 0.08 -1.2 0.4 0.24 -4.9 0.8 0.15 -4.0

800 0.62 223 62 7 <15 0.7 0.15 -1.5 1.4 0.09 -1.2 0.5 0.29 -5.0 1.0 0.18 -4.2

1000 0.78 280 78 10 <15 0.8 0.17 -1.5 1.6 0.11 -1.3 0.6 0.32 -5.1 1.2 0.20 -4.3

500 0.47 168 47 2 <15 0.5 0.12 -1.4 1.0 0.07 -1.2 0.4 0.22 -4.8 0.8 0.14 -4.0

250
600 0.56 202 56 3 <15 0.6 0.13 -1.4 1.2 0.08 -1.2 0.4 0.24 -4.9 0.8 0.15 -4.0

800 0.75 269 75 4 <15 0.7 0.15 -1.5 1.4 0.09 -1.2 0.5 0.29 -5.0 1.0 0.18 -4.2

1000 0.94 337 94 6 <15 0.8 0.17 -1.5 1.6 0.11 -1.3 0.6 0.32 -5.1 1.2 0.20 -4.3

600 0.69 249 69 2 <15 0.6 0.13 -1.4 1.2 0.08 -1.2 0.4 0.24 -4.9 0.8 0.15 -4.0

315
800 0.92 332 92 3 <15 0.7 0.15 -1.5 1.4 0.09 -1.2 0.5 0.29 -5.0 1.0 0.18 -4.2

1000 1.15 416 116 4 <15 0.8 0.17 -1.5 1.6 0.11 -1.3 0.6 0.32 -5.1 1.2 0.20 -4.3

1250 1.44 520 144 5 <15 1.0 0.20 -1.6 2.0 0.12 -1.3 0.6 0.37 -5.2 1.2 0.23 -4.4

800 1.15 412 114 2 <15 0.7 0.15 -1.5 1.4 0.09 -1.2 0.5 0.29 -5.0 1.0 0.18 -4.2

400
1000 1.43 516 143 2 <15 0.8 0.17 -1.5 1.6 0.11 -1.3 0.6 0.32 -5.1 1.2 0.20 -4.3

1250 1.79 646 179 3 <15 1.0 0.20 -1.6 2.0 0.12 -1.3 0.6 0.37 -5.2 1.2 0.23 -4.4

1500 2.15 775 215 4 <15 1.1 0.22 -1.6 2.2 0.14 -1.3 0.7 0.41 -5.3 1.4 0.25 -4.4

1000 1.76 635 176 2 <15 0.8 0.17 -1.5 1.6 0.11 -1.3 0.6 0.32 -5.1 1.2 0.20 -4.3

500 1250 2.21 795 221 2 <15 1.0 0.20 -1.6 2.0 0.12 -1.3 0.6 0.37 -5.2 1.2 0.23 -4.4

1500 2.65 954 265 3 <15 1.1 0.22 -1.6 2.2 0.14 -1.3 0.7 0.41 -5.3 1.4 0.25 -4.4

1250 2.75 988 274 1 <15 1.0 0.20 -1.6 2.0 0.12 -1.3 0.6 0.37 -5.2 1.2 0.23 -4.4

630 1500 3.30 1187 330 2 <15 1.1 0.22 -1.6 2.2 0.14 -1.3 0.7 0.41 -5.3 1.4 0.25 -4.4

1750 3.85 1385 385 2 <15 1.2 0.24 -1.6 2.4 0.15 -1.3 0.8 0.44 -5.4 1.6 0.28 -4.5
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ƒtot = 0.3 m/s

∆pt x 1.9 x 3.4
LWA + 8 + 17

 wolnostoj  v– tot = 0.3 m/s

∆tZ = -2 K ∆tZ = -6 K

NW H Atot V
.

∆pt LWA Lv–Lmax v–Lmax ∆tLmax 2xLv–Lmax v–L ∆tL Lv–Lmax v–Lmax ∆tLmax 2xLv–Lmax v–L ∆tL

(mm) (mm) m2 w m3/h w l/s Pa dB(A) w m w m/s w K w m (m/s) (K) w m  w m/s w K w m (m/s) w K

500 0.32 345 96 49 32 1.2 0.10 -1.1 2.4 0.06 -0.9 0.8 0.19 -3.8 1.6 0.12 -3.2

160
600 0.38 414 115 64 37 1.3 0.11 -1.2 2.6 0.07 -1.0 0.9 0.21 -3.9 1.8 0.13 -3.2

800 0.51 553 154 103 44 1.6 0.13 -1.2 3.2 0.08 -1.0 1.1 0.25 -4.0 2.2 0.15 -3.3

1000 0.64 692 192 148 50 1.9 0.15 -1.2 3.8 0.09 -1.0 1.3 0.28 -4.1 2.6 0.17 -3.4

500 0.39 417 116 31 26 1.2 0.10 -1.1 2.4 0.06 -0.9 0.8 0.19 -3.8 1.6 0.12 -3.2

200
600 0.46 502 139 40 31 1.3 0.11 -1.2 2.6 0.07 -1.0 0.9 0.21 -3.9 1.8 0.13 -3.2

800 0.62 670 186 64 38 1.6 0.13 -1.2 3.2 0.08 -1.0 1.1 0.25 -4.0 2.2 0.15 -3.3

1000 0.78 839 233 90 44 1.9 0.15 -1.2 3.8 0.09 -1.0 1.3 0.28 -4.1 2.6 0.17 -3.4

500 0.47 503 140 20 20 1.2 0.10 -1.1 2.4 0.06 -0.9 0.8 0.19 -3.8 1.6 0.12 -3.2

250
600 0.56 605 168 25 25 1.3 0.11 -1.2 2.6 0.07 -1.0 0.9 0.21 -3.9 1.8 0.13 -3.2

800 0.75 808 224 40 32 1.6 0.13 -1.2 3.2 0.08 -1.0 1.1 0.25 -4.0 2.2 0.15 -3.3

1000 0.94 1011 281 55 38 1.9 0.15 -1.2 3.8 0.09 -1.0 1.3 0.28 -4.1 2.6 0.17 -3.4

600 0.69 746 207 16 19 1.3 0.11 -1.2 2.6 0.07 -1.0 0.9 0.21 -3.9 1.8 0.13 -3.2

315
800 0.92 997 277 25 27 1.6 0.13 -1.2 3.2 0.08 -1.0 1.1 0.25 -4.0 2.2 0.15 -3.3

1000 1.15 1247 346 35 33 1.9 0.15 -1.2 3.8 0.09 -1.0 1.3 0.28 -4.1 2.6 0.17 -3.4

1250 1.44 1560 433 49 38 2.1 0.17 -1.2 4.2 0.10 -1.0 1.4 0.32 -4.2 2.8 0.20 -3.5

800 1.15 1237 344 16 21 1.6 0.13 -1.2 3.2 0.08 -1.0 1.1 0.25 -4.0 2.2 0.15 -3.3

400
1000 1.43 1548 430 22 27 1.9 0.15 -1.2 3.8 0.09 -1.0 1.3 0.28 -4.1 2.6 0.17 -3.4

1250 1.79 1937 538 30 33 2.1 0.17 -1.2 4.2 0.10 -1.0 1.4 0.32 -4.2 2.8 0.20 -3.5

1500 2.15 2326 646 40 37 2.4 0.19 -1.3 4.8 0.12 -1.1 1.6 0.35 -4.3 3.2 0.22 -3.5

1000 1.76 1905 529 14 21 1.9 0.15 -1.2 3.8 0.09 -1.0 1.3 0.28 -4.1 2.6 0.17 -3.4

500 1250 2.21 2384 662 20 27 2.1 0.17 -1.2 4.2 0.10 -1.0 1.4 0.32 -4.2 2.8 0.20 -3.5

1500 2.65 2862 795 26 32 2.4 0.19 -1.3 4.8 0.12 -1.1 1.6 0.35 -4.3 3.2 0.22 -3.5

1250 2.75 2965 824 13 22 2.1 0.17 -1.2 4.2 0.10 -1.0 1.4 0.32 -4.2 2.8 0.20 -3.5

630 1500 3.30 3560 989 17 27 2.4 0.19 -1.3 4.8 0.12 -1.1 1.6 0.35 -4.3 3.2 0.22 -3.5

1750 3.85 4155 1154 21 31 2.7 0.21 -1.3 5.4 0.13 -1.1 1.8 0.38 -4.3 3.6 0.24 -3.5
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/ / / / /QLV - 180 - O - M - L 250 x 600 W0 0 P1 RAL 9016

: TROX                                                                                     
Typ:     QLV - 180 - O - M - L / 250 x 600 / W0 / P1 / RAL 9016 
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